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THE LiMiT LAWS

. lim (f() + g(2)) = lim f(2) + lim g(z)
lim (f(x) — g(z)) = lim f(z) — lim g(x)
lim (f(2)g(x)) = lim £(2) - lim g(z)
lim (cf(z)) = clim f(x)
tim (£(2))" = (lim f(@))”
:PEZC =c
gl;lgbm =a
il_)rrza:” =a"
lim Yx = /a  where n is a positive integer
aljl_)ffé \/7 = W where n is a positive integer

(Direct Substitution Property) If f is a polynomial or a rational

function and a is in the domain of f, then lim f(z) = f(a)

If f(x) < g(x) when x is near a, then lim f(z) < lim g(x)

r—a r—a

(The Squeeze Theorem) If f(z) < g(z) < h(x) when z is near a

and lim f(z) = limh(z) = L, then limg(z) = L as well

r—a



